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M.Com. 
2nd Semester Examination, Jan.-June, 2022 

Paper II 

Specialized Accounting 

Time: Three Hours] [Maximum Marks : 80 

Note Answer all questions. All questions carry equal 

marks. 

FT/Unit-I 

TTii 31 4, 

2018 3fq ai4 T fAafafea 
1. 
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(3) (2) 
On 31st March, 2018 the books of the New 

Insurance Co. Ltd. contained the following 
particulars in respect of fire insurance 

(ETR) 

TAHT Tfei fe 
F 31 HT, 2017 3,00,00 7 (thousand) 

60,00 Reserve for unexpired risk 
on 31st March, 2017 

3tfaftm re 31 4T, 2017 
3,00,00 3,84,00 

Additional reserve on 

60,00 
3,84,00 

31st March, 2017 
Claims paid 
Estimated libility in respect of 

outstanding claims: 
On 31st March, 2017 

31 4, 2017 39,00 

31 HT, 2018 54,00 
39,00 
54,00 

y4N T a747 18,00,000 
On 31st March, 2018 

Expenses of management including 
18,00,000 legal expenses paid in 1,68,00 

45,00 1,68,00 
45,00 
12,00 

6,72,00 
34,80 

connection with claimn 

Reinsurance premium 
Reinsurance recoveryY 
Premium 

12,00 

6,72,00 

34,80 Interest and dividends 
Profit on sale of investment 6,60 

6,60 Commission 91,20 
91,20 Prepare in the prescribed form the Fire Insurance 

Revenue Account for the year 2017-18 reserving 

50% of the premium for unexpired risks and 
a 2017-18 f 3af a4I 3ATTH 

keeping an additional reserve of 7 60,00,000. 

Assume that | of the premium and claims are 

applicable to business outside India. 

3rraTOR 
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(4) (5) 

10,000 

46,00,000 

(a) 3TT4 GI 38,00,000 

(6) T-EA a FATT T4T 40,00,000 

40,000 

Prepare he following in proper with 2,20,000 

imaginary figures in he books of General 

Insurance Company: 10,000 

(a) Revenue Account 

(6) Profit and Loss Account 1,70,000 

(c) Balance Sheet 5,00,000 

3RT/Unit-II 13,00,000 

2. f4 c7 fa. ai 31 HT, 2014 HIT 1,70,000 

9,50,000 

20,00,000 12,00,000 

18,00,000 t fafru faftuti 1 31 HT, 2014 

ITI HTT 10,50,000 R 7,70,000 

T 31 HT, 201461 TgI FIErI 
28,00,000 
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(6) (7) 

The Trial Balance of Indian Bank Ltd. for 

the year cnding 31lst March, 2014 is as 

follows 

Investments 9,50,000 

Loan against repledgement 
of customer's securities 12,00,000 

20,00,000 Paid-up Capital Directors require the banks investments to be 

18,00,000 shown in the Balance Sheet at the market 
Local Bills Discounted 

price of 10,50,000 on 3ist March, 2014. 

Prepare Balance Sheet as at 31st March, 2014. Reserve 7,70,000 

Cash credit and overdrafts 28,00,000 
32aT/OR 

Unclaimed Dividends 10,000 

Loan 46,00,000 

Current and Savings Bank deposits 38,00,000 

Fixed Deposits 40,00,000 (6) -af¢7 Hufi 

Furniture 40,000 

Profit&Loss Account credit 2,20,000 

Stamp and Stationery 10,000 
Explain the following items usually found in 

the Balance Sheet of a Banking company Circular notes, LC & Provision 

for contingencies 1,70,000 
(a) Overdraft and Cash Credit 

Cash in hand 5,00,000 (6) Non-Banking Assets 

Cash at Bank 13,00,000 (c) Bills Payable 

1,70,000 (d) Money at call and short notice 

Branch adjustments (Debit) 

(Turn Over) 
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(8) (9) 

HTE/ Unit-III 

3. fmTH YAt À3YA TT 

T3,00,000 et 7 20,000 TA ZIT 
fai T 3itt TY fAHty 7 10,000 

TTT T TaT I TAT T5,00,000 

(a) r4a :KT 

How is Accounting record made about the 

following under Double Account System? 

Hf gT a, 15% 3tr 122% ae T 
a) Repairs and Renewals 

(b) Additions and Extensions in Fixed Assets 

361/ Unit-IV The Hindustan Gas Company decided to re 

built part of their work at cost of5,00,000. 

The part of the old works thus superseded 

cost 3,00,000. 20,000 is raised by sale of 

old materials and old materials valued at What is shortworkings? Explain with 

T 10,000 are used in the construction and 
examples. 

included in the cost of 5,00,000 above 

mentioned. The cost of labour and materials 

is respectively 15% and 12% higher now 
than when the old works were built. The 

proportion of labour to materials in the works 
then and now is 3:7. Draft the necessary 

Distinguish between Shortworkings and 

Royalty Reserves. 

Journal entries. 
3rUaT/ OR 

3TraT0OR 
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(10) 
(11) 

Years 2010-112011-122012-132013-142014-152015-16 

(Strike) 
3THT a 74t f. YH 10 

Production 
(in ton) 10000 12000 28000 25000 50000 15000 

Write up necessary ledger accounts in the 
books of the lessee. 

6T/Unit-v 
5. 

2010-112011-12|2012-132013-142014-15 2015-16 What do you understand by Investment 
Accounts ? Explain the term cum-interest and 
ex-interest with examples. 

(2)10000 12000 28000 25000 50000 15000 
7UaT/ORR 

1 4, 2017 T À 7 100 ard fAva 
7TT 200, 9% EVTy 105 7 The Assam Coal Company Ltd. holds a lease 

of coal mines for a period of ten years. 

According to lease, the company is to pay 75 

paise as royalty per ton with a minimum rent 

of F 15,000 per year. Shortworkings can be 

recovered out of the royalty in exess of the 
minimum rent of the next two years only. In 
the year of a strike the minimum rent is to 

be reduced to 50%. The output for six years 

31 Ta 7 I 31 T, 2108 

2017-18 fe TIT TTi 

have been as under: 
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(12) 

On 1st May, 2017 Rajesh purchased 200, 9% 

Municipal Corporation Debenture of 7 100 

eathF 105 cum-interest. Interest is payable 

on 30th June and 31st December each year. 
On 31st March, 2018 Debenture were quoted 

in the market T 95 each. Debentures are 

held as current assets. Brokerage is paid F 50. 

Pass necessary Journal entries in the books of 
Rajesh for the year 2017-18. Books are closed 
on 31st March each year. 
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